2010/

A&
A 545 MPC
A&

01/20

LA HE st PID#r4I

DO

[OV]

Hgg . x10XX
1. Thermocouple: # A& = #2°C
Type Range Accurcy
] 1000 ~ -50 C
1832 ~ -58 °F
K 1370 ~ 50 C
2498 ~ -58 °F
T 400 ~ =270 C
752 ~ -454 °F
B 1000 ~ -50 C
}ggg : 53 g (iain = 8 ,A/D Input range = +75mV
B 3979 - 39 °F LR R = 2.288888211 EV/Count
" 1750 =~ 50 C = 0.057315039 C/Count
3182 ~ -58 °F
S 1750 ~ -50 °C
3182 ~ -58 °F
N 1300 ~ -50 C
2372 ~ -58 °F
C 1800 ~ -50 C
3272 ~ -58 °F
.RTD: # & £0.2C
Type Range Accurcy
PT100 (DIN) 850 - 200 € I = 0.1918367347mA
1652 ~ -328 'F Gain = 8 ,A/D Input range = +75mV
1112 ~ -328 C Bzt R = 2.288888211 uV/Count
PT100 (JIS) 500 - <200 °F - 0.0338359317 °C/Count
.Line: # & 5 Count
Type Range Accurcy
V 10V ~ 0V Gain = 8 ,A/D Input range +75mV
mA 20mA ~ 4mA B2+ R = 2.28888 uV/Count
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Read & Write Word data map: Function code [ x03 , x06 ]

( 16 )
SHr | SR LA Ty SHi € | BEE e
x0000 SV HiLt ~ LoLt 20.0 “C/ F/ENG
& 0] fegh 30000 ~ -30000
Bl = 3000.0 ~ -3000.0 o o
x0001 RAMP THD - 30000 = 300,00 0.0 C/ F/ENG
| #& 3 = 30. 000 ~ -30.000
x0002 SOFT 100.0 ~ 0 0.0 %
x0003 SSV HiLt ~ LoLt 0.0 “C/ F/ENG
x0004 A1SP HiLt ~ LoLt 100.0 “C/ F/ENG
& 0| fegh 30000 ~ -30000
| # ] = 3000.0 ~ -3000.0 o o
x0005 ATHY TH 30000 ~ <300, 00 0.0 C/ F/ENG
| #& 3 = 30. 000 ~ -30.000
English code
x0000 i N
x0001 G R ER
x0002 gy B4R
x0003 CES R L A#EE
x0004 LRSS L
x0005 EE-ME-Ei English
x0006 A1FU 0006 B R x0000 code
x0007 G R ER
x0008 gy B4R
x0009 CES R L .
x000A o £ 1 EF bk
x000B ¥ i b EaR
x000C W i EAR
English code
x000D EILE =278 English
x0007 AIMD x000E 5 - 0 B x000D code
x000F B2 v
x0010 F-0 A B & BRI wAR
x0008 AITI 30000 ~ 0 0 Sec/Min
x0009 A2SP HiLt ~ LoLt 100.0 “C/ F/ENG
£ ] gk 30000 ~ -30000
[l = 3000.0 ~ -3000.0 om0
x000A A2HY TH 30000 ~ <300, 00 0.0 C/ F/ENG
| # 3 = 30.000 ~ -30.000
x000B A2FU English code x0000 English
x0000 | &4F 7 & 0% A ¥k code
x0001 | %45 &4¢
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Administrator
打字機文字
(參數位址皆為16進位格式)


x0002 | & 4 = E4p
x0003 | 4 B &
x0004 | #h £ ix B3
x0005 | %4 ot B
x0006 | %3 p Ep
x0007 | % 4%t® &4
x0008 | & 4 &4
x0009 | % £ B &g .
x000A | th £ &3 bies
X000B | %% o &g
x000C | %3 p B
English code
x000D A e FA English
x000C A2MD x000E § - =03 By x000D code
x000F | &#@7 w4
x0010 | % - =7 &4 § ERE A wip
x000D A2TI 30000 ~ 0 0 Sec/Min
x000E OUTL 100.0 ~ 0.0 0.0 %
English code
x0011 | #3521 H B
x0012 SVpdiwh
<000F ENAB x0013 | 90% SV p # ;%% <0011 English
x0014 | = & ) code
x0015 Hghir
x0016 ¥ AR I
x0017 | ¥ fesi45ie
English code Bnglish
x0010 ACT X0018 | 4c#td 4 x0018 code
x0019 N LF it 1)
x0011 PB1 300.0% ~ 0.0% 5.0 %
x0012 TI1 3000.0 ~ 0 240.0 Sec
x0013 TD1 750.0 ~ 0 60. 0 Sec
x0014 MR1 51.0 ~ 0.0 0.0 %
x0015 AR1 100.0 ~ 5.0 50.0 %
x0016 ASP1 HiLt ~ LoLt 200. 0 “C/ F/ENG
x0017 PB2 0.00% ~ 300.00% 5.0 %
x0018 TI2 3000.0 ~ 0 240.0 Sec
x0019 TD2 750.0 ~ 0 60. 0 Sec
x001A MR2 51.0 ~ 0.0 0.0 %
x001B AR2 100.0 ~ 5.0 50.0 %
x001C ASP2 HiLt ~ LoLt 400. 0 °C/ F/ENG
x001D PB3 0.00% ~ 300.00% 5.0 %
x001E TI3 3000.0 ~ 0 240.0 Sec
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x001F TD3 750.0 ~ 0 60. 0 Sec
x0020 MR3 51.0 ~ 0.0 0.0 %
x0021 AR3 100.0 ~ 5.0 50.0 %
x0022 ASP3 HiLt ~ LoLt 600. 0 C/ F/ENG
x0023 PB4 0.00% ~ 300.00% 5.0 %
x0024 T14 3000.0 ~ 0 240. 0 Sec
x0025 TD4 750.0 ~ 0 60. 0 Sec
x0026 MR4 51.0 ~ 0.0 0.0 %
x0027 AR4 100.0 ~ 5.0 50.0 %
English code
J
K
T
E
B
R English
x0028 TYPE S x001B
code
N
C
DPT
JPT
mA
mV
V
30000 ~ -30000
3000.0 ~ -3000.0 o o
x0029 SCAL 300,00 ~ 300,00 4.0 C/ F/ENG
30. 000 ~ -30.000
30000 ~ -30000
3000.0 ~ -3000.0 om0
x002A SCAH 30000 = 300,00 20.0 C/ F/ENG
30. 000 ~ -30.000
English code
7 4o r24) .
x002B CUT EETREE <0028 | Cnelish
= code
% 2L
B L
English code
x002C | ONIT ¢ x002c | Pnelish
F code
ENG
x002D DP English code x0030 English
& | fegk code

ok ;3




x0031 | #e 2 =
x0032 | B3
x002E LOLT TYPE UNIT DP Range 0.0 “C/ F/ENG
B &) BB 1000 ~ 50
] J @1 = | 1000.0 ~ -50.0
F &) g 1832 ~ -08
J#l i | 1832.0 ~ -58.0
C &) g 1370 ~ -50
K Jﬁtl = | 1370.0 ~ -50.0
F &) gk 2498 ~ -58
@il = | 2498.0 ~ -58.0
C &) g 400 ~  -270
T J#l = | 400.0 ~ -270.0
F # ) g 752 ~ -454
4 ﬁtl = | 752.0 ~ -454.0
‘0 # ] BB 750 ~ -50
B J#l = | 750.0 ~ -50.0
F &) g 1382 ~ -08
J# ]l i | 1382.0 ~ -58.0
C # ) g 1800 ~ 0
B Jﬁtl = | 1800.0 ~ 0.0
F &) gk 3212 ~ 32
el i | 3272.0 ~ 32.0
C &) g 1750 ~ -50
R J# ] = | 1750.0 ~ -50.0
F # ) g 3182 ~ -58
Jﬁtl = [3182.0 ~ -58.0
o &) gk 1750 ~ -50
S J @l = | 1750.0 ~ -50.0
F &) g 3182 ~ -08
J#l i | 3182.0 ~ -58.0
C # ) g 1300 ~ -50
N Jﬁtl = [ 1300.0 ~ -50.0
F & | fgk 2312 ~ -58
J @] = | 2372.0 ~ -58.0
C &) g 1800 ~ -08
C () # ] = | 1800.0 ~ -58.0
F &) g 3213 ~ -58
4l ﬁtl = 13273.0 ~ -58.0
B & ] gk 800 ~ -200
DPT J @il = | 850.0 ~ -200.0
F &) g 1562 ~ -328
) # ]l i | 1562.0 ~ -328.0
JPT C | & )& 600 ~ -200

|
ol
|




41 | 600.0 ~ -200.0
op [ EE | 1112 - 328
Pl [ 1112.0 ~ -328.0
ooy | B | 30000 0
: %1 = [3000.0 ~ 0.0
LINE EIEI(/} | %2 = | 300.00 ~ 0.00
] 43 = [30.000 ~ 0.000
x002F HILT F LOLT % 1000.0 | “C/°F/ENG
English code English
x0030 PTME x0033 ¥ x0033 oo
x0034 A
English code
x0035 |01 OFF , A2 OFF , Al OFF
x0036 | 01 OFF , A2 OFF , Al ON
x0037 |01 OFF ,A2 ON , Al OFF English
x0031 EROP x0038 |01 ON ,A2 ON , Al ON x0035 oo
x0039 |01 ON ,A2 OFF , Al OFF
x003A |01 ON ,A2 OFF , Al ON
x003B |01 ON ,A2 ON , Al OFF
x003C |01 ON ,A2 ON , Al ON
&) gk 30000 ~ -30000
I 3000.0 ~ -3000. 0 c e
x0032 SPOF =57 30000~ 30000 0.0 C/"F/ENG
I 30. 000 ~ -30. 000
&) g 30000 ~ -30000
I 3000. 0 ~ -3000. 0 cr e
x0033 PVOF = e 300,00~ 30000 0.0 C/"F/ENG
| #e 3 30. 000 ~ -30. 000
x0034 FILT 99.9 ~ 0.0 0.0 % #c
English code
x003D 2400 bps English
x0035 BAUD x003E 4800 bps x0040 code
x003F 9600 bps
x0040 19200 bps
x0036 1D 255 ~ 1 255 it
60 ~ 1 | SSR PWM # &
0 g (md & VD9
x0037 01CT -1 RO SR 1 Sec
2 R B A s
-3 R AU D F B
English code
x0041 AR PV g ) English
X0038 1 OU 0000 Tamsrm sv e o x0043 code
x0043 [ s12%t & OUTL # !
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x0039 O1CH 12000 ~ 0 8534 Count
x003A 01CL 12000 ~ 0 1700 Count
English code English
x003B STAT x0044 * i Ak x0044
code
x0045 &4
English code
Frds ¥ AR5 P B .
003 | smr | X004 SV 0 ® <0047 | Pnelish
code
<0047 Fads ¥ AR P
SV d PV R4
& ] gk 30000 ~ 0
AR < 3000.0 ~ 0.0 om0
x003D BAND THD 50000 = 0.00 20.0 C/ F/ENG
B3 30.000 ~ 0.000
x003E RT1 30000 ~ 0 60 Sec/Min
x003F SP1 HILT ~ LOLT 20.0 “C/ F/ENG
x0040 ST1 30000 ~ 0 60 Sec/Min
English code
x0048 FREREpDF 8 (RT)Z R
x0049 FRE2Aepr s TERIDHE R
x004A FREAEep % 6 ERT6)E R
x004B Jféfav_ 3 vify ﬁ'l‘f'J %5 -FA(RT5)’J yira
x004C }n_ ERisp D% 45 (RT4)2 R English
x0041 St x004D SRR mr“z] % 3 E (RT3 R x0050 code
x004E #i’}}é’_ B #F % 2 5 (RT2)2 R
x004F FRr2disprs 1 QRTHE R
x0050 R p‘?\wrﬁ‘gggﬁﬂ
x0051 Jféfav. 3 q\fﬁrﬁ '-\.L%P'wrﬂ
x0052 FR % K18 #E RT2
x0042 LN1 i B 30000 ~ 0= ,30001 =& *=x i B 0 =
x0043 RT2 30000 ~ 0 60 Sec/Min
x0044 SP2 HILT ~ LOLT 20.0 “C/"F/ENG
x0045 ST2 30000 ~ 0 60 Sec/Min
English code
x0048 FRE2Lep s §E(RTE R
x0049 FE. é‘#\w B3 % TERTHZ R
x004A FREAE % 6 ERT6)H B
x004B | #FR % ‘?‘\ #3 % 5B (RTH)Z E
x004C FREdiepr s 4R R English
x0046 Stz 004D | #E % & 69T % 3 (RI3) = x0050 code
x004E Jféf pir l‘p fL Tﬁ? ﬁ'[‘_ﬂ :3‘: 2 -FA(RT2)’J i
x004F FRERsp s 1 KRTDH2 R
x0050 :fi’}m &R B 5‘?%]
x0051 #_‘m_ =3 é\ 19—%{ 2&.}""—;;5]
x0052 FE AL & RT3
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x0047 LN2 i [ 30000 ~ 0= ,30001 =i B]#& L= 0 =
x0048 RT3 30000 ~ 0 60 Sec/Min
x0049 SP3 HILT ~ LOLT 20.0 “C/"F/ENG
x004A ST3 30000 ~ 0 60 Sec/Min
English code

x0048 FER LR oI % 8 FL(RT8)Z B

x0049 FRELEHIY TEQRID2 R

x004A FRRELAEE IS 6 K (RT6)Z R

x004B Jféf/g. éifﬂr“i]%ﬁ 5 & (RTH) = 8

x004C FREREP Iy 4B (RTHZ R English
x004B SI'3 x004D #_‘ i é\ sprr % 3E(RTI)Z B x0050 code

x004E FRELAEHI Y 2EH5QRTD)E R

x004F FES ﬁ\ f$ E“E'J % 1 & (RTHZ R

x0050 FRELCH ?@?I:”

x0051 Jféfav. 7 q\TVE'—\l}:{P’D#J

x0052 SRS (s #H RT4
x004C LN3 & B 30000 ~ 0= ,30001 =3 *T=xix F] 0 =
x004D RT4 30000 ~ 0 60 Sec/Min
x004E SP4 HILT ~ LOLT 20.0 “C/°F/ENG
x004F ST4 30000 ~ 0 60 Sec/Min

English code

x0048 TR B ‘?x t$ fk”‘] ¥ 8 & (RT8) &

x0049 #L‘m_ ShiepI e TEHEQRTHA R

x004A FER é\ 3 % 6 B (RT6)Z 8

x004B FREdepr % b EMRMHEE

x004C |#FRERsp % 4 RT4)2 R English
x0050 St x004D Jféf i “p q\ {s ﬁ'l‘f‘J % 3 -FA(RT3>’J iR x0050 code

x004E FREREP I Y 2B RT2)Z R

x004F #L‘/}:g_ s % 1 ERTHEE

X0050 #j_’ ar p 19 Fﬁg Sgﬁ%l

x0051 R s H B

x0052 R p q\ fs # 4% RTH
x0051 LN4 i B 30000 ~ 0= ,30001 =& *I=xix ¥ 0 =
x0052 RT5 30000 ~ 0 60 Sec/Min
x0053 SP5 HILT ~ LOLT 20.0 “C/"F/ENG
x0054 STh 30000 ~ 0 60 Sec/Min
x0055 SFb English code x0050 English

x0048 FR2diepr s §E(RTE R code

x0049 FRREABEIY TERTHZ R

x004A 33/5'_ Shisp % 6 (RT6)ZE

x004B FREREE T HERDZE

x004C FRELAEHI Y 45 RTHE R

x004D FR2dispr s JEMRIE R

x004E FR2depr s 2E[R2)E R
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x004F | #FRSdtep 3y 1 RQRTD2 R

X0050 | #8546 M P by

x0051 Jféf (- p q\ s H '-\.L%'mjrﬂ

x0052 S ‘?x fs #r4% RT6
x0056 LN5 ¥ B 30000 ~ 0= ,30001 =& *I=x i 3 0 EN
x0057 RT6 30000 ~ 0 60 Sec/Min
x0058 SP6 HILT ~ LOLT 20.0 "C/"F/ENG
x0059 ST6 30000 ~ 0 60 Sec/Min

English code

x0048 SR ‘?\ fs fk”'] % 8 & (RT8)Z %

x0049 JFL‘}E Shisp s TEQRTHZE

x004A FREAE % 6 ERT6)E B

x004B FREdepr % b EMRMHEE

x004C %fan;aiﬁyﬁ“ﬁli 4 5 (RT4)2 8 English
x0054 SFo x004D Jféf AL p q\ {s ﬁ'l‘f‘J % 3 -FA(RT3>’J iR x0050 code

x004E FRELEPIY 2EHQRT2)ZE

x004F FREdepns 1 &£QRTDH2 R

x0050 FRELECH Sgﬁaq

X0051 ;fé?/.w_ 3 ?\19—%{%#’"%]

x0052 FFEF A1 R RTT
x005B LN6 i B 30000 ~ 0= ,30001 =& *2=x:x B 0 EN
x005C RT7 30000 ~ 0 60 Sec/Min
x005D SP7 HILT ~ LOLT 20.0 “C/ F/ENG
x005E ST7 30000 ~ 0 60 Sec/Min

English code

x0048 FRRdisp % 8K (RTS)Z B

x0049 Jféf BELENFY TERIDHE R

x004A SR ‘?x fs YH 1% 6 & (RT6)Z B

x004B ‘FL‘ i sHeF % b E(RTH)Z B

x004C |#FE BRI % 45 RTHEE English
x005F ST x004D | #FE % 19&%3? 1% 3 £ (RT3)= & x0050 code

x004E FRRBAEpFY 2EKRT2ZE

x004F Jféf BELEEDF 1 BERTDHE R

x0050 SR ‘p At B B ﬁ%q

x0051 av_ p ‘#\ & H ﬂh#""#

x0052 JFL‘ S ‘?\ fo %4 RT8
x0060 LN7 % [ 30000 ~ 0= ,30001 =% P& =% 0
x0061 RTS8 30000 ~ 0 60 Sec/Min
x0062 SP8 HILT ~ LOLT 20.0 “C/ F/ENG
x0063 ST8 30000 ~ 0 60 Sec/Min
x0064 SF8 English code x0050 English

x0048 |[#FE S Rep ¥ 8 E(RT8)HE code

x0049 ;fé? AR = is s B 3 E -F/»(RT?)’J -

x004A FREAEp % 6 ERT6)E R
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fep3) % 5 FL(RTH)) 2R

) ; é\ fsper % 4 5 (RT4)Z 8

2L
=2

Ftsper % SERTL R

;»L RiEp I % 2 B (RT2)2 R

FaRd ey 1 &RTHE R

w¢¢¢wwaa

RS

x0065 LN8 w B 30000 ~ 0=t , 30001 =m "=k e B 0 =
30000 ~ -30000
3000.0 ~ -3000. 0 oo
x0066 O1HY 30000 = ~300.00 0.0 C/ F/ENG
30. 000 ~ -30.000
x0067 OUCH 100.0 ~ 0.0 100.0 %
x0068 OUCL 100.0 ~ 0.0 0.0 %
30000 ~ -30000
3000.0 ~ -3000. 0 oo
x0069 PVOH 30000 ~ =300, 00 1000. 0 C/ F/ENG
30.000 ~ -30.000
30000 ~ -30000
3000.0 ~ -3000. 0 oo
x006A PVHA 30000 ~ =300, 00 0 C/ F/ENG
30. 000 ~ -30.000
30000 ~ -30000
3000.0 ~ -3000. 0 oo
x006B PVOL 30000 ~ ~300.00 25.0 C/ "F/ENG
30.000 ~ -30.000
30000 ~ -30000
3000.0 ~ -3000. 0 . oo
x006C PVLA 30000 ~ =300, 00 20.0 °C C/ F/ENG
30.000 ~ -30.000
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Read Only Word data map: Function code [ x04 ](

16

)

S8z nt

4 LA

Contents

$8cH >

x1000

PVPVOF

PV + PVOF

"C/"F/ENG

x1001

SVSVOF

SV + SVOF

“C/"F/ENG

x1002

OUTL

R

%

x1003

WKERNO

0

1
2
3

P T B

Il
o O
[a—

Ul &> W DN — O

| Ol = W Do — O
I

LW DN — O

>
o
o1

OO = © 00 -1 O Ul = WD — O

&3g] OFF , 42 OFF
#ig] ON , %472 OFF
#4g] OFF , & 472 ON
w4l ON , &2 ON

14 B (B
pEEs (o SV E P4
7 4

B 4e R

1o L
1ML
52 Lix
P.I1.D t#cs 47+
pdwE (2 SV ox 90% 5P 48)
Ak

B4
$1BD 2
$1E 20
$2m D
P.I.D ta#cs 7¢
ﬁ-ﬁéﬁ%ﬂi

- B

H g

Hoghal

¥ frd
Hoghil %k & i fads o)
AR I
12 R
»1EREFR
52D R
5B F R
53D R
53 F R
AR R
RAEF R

SHER AR
A=)
627

e =]
RTERAR

!
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Administrator
打字機文字
(參數位址皆為16進位格式)


D S TEFEFR
E %8R
F 8B F R
x 06 _ ie ¥ A2
x1__ &35 4 OPER (ﬁi%J/\ OPEN)
X2 _ _ G2 & ADER (A/D #3484 453%)
x 3 _ _ _ s#a i EPER (GGefptes 2 4535)
x4 _ _ G 4 ATER (p & iF 58 2 43%)
X9 _ _ g5 2% 4 HIER (PV % »t HILT)
x 6 _ _ _ 4 i LOER (PV ot LOLT)
x1004 RAMP_TL | ¥ 2hal 5 48P or See/Min
x1005 RAMP TH | ¥ AV 2 E e R/ or P RN FREeRNAER
x1006 ALM1_TL : :
1007 | ALML TH R | B ERFIPER Sec/Min
x1008 ALM2_TL :
<1009 | A2 TH B4R 2 1 B EAR flappE Sec/Min
x100A SV0 (#H =z #1 i) SV + SVOF “C/ F/ENG
x100B PV0 (Hz | #1 ) PViE °C/"F/ENG
x100C PV1 (Ha)#kl =) PVEe & “C/ F/ENG
x100D PV2 (A= 8l i) PVEL & °C/ F/ENG
x100E ET0 (Ha ) #&1li)SV-PVie “C/ F/ENG
x100F ET1 (Ha ) #&li=)SV-PVaeE “C/ F/ENG
x1010 ET2 (Flz ]#,l=)SV-PVeiE “C/"F/ENG
x1011 Px T ai* e P ik %
x1012 Ix T aR*m [ Bk Sec
x1013 Dx o ARt D fhiic Sec
x1014 MRx i * eh MR ke %
x1015 ARx i * eh AR ad#kc %
x1016 Pout |P g &t %
x1017 Tout |1 #5815 A %
x1018 Dout |D i A v %
x1019 Pband |+t 6% °C/F/ENG
x101A ARW ik “C/ F/ENG
PV
Level = x0005
SV + Pband
Level = x0004
SV + ArW
Level = x0003
x101B LEVEL S PR — (8
SV - AW
Level = x0001
SV - Pband
Level = x0000
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1.PID Control:

PID control f&#f ACCURCY
Proportional P% = P = 0.0% pF %> On/0Off control
Integral
Derivation

Anti-windup

Manual reset

2. B P.1.D:

SEP.LLD fas%E ACCURCY
1= SV = ASPI1
¥ 28 ASP1 < SV = ASP1
% 3 ASP2 < SV = ASP2
¥ 4 & ASP3 < SV = Hilt
3. Autotune:
Autotune fa%f ACCURCY

YES. 1 SV R g
YES. 2 v SV ox 90% & K T g

A

»

(PH+PL) x766

VPHxPL x (HiLt - LoLt)

Pb=

Ti:TCx% , 0<Ti <4000

Td :% , 0<Td <1000

ARYNE

PV = SSP # Outl = Out

PV

SV

!

, 0.1% < Pb <300.0% Mr :LLX].OO.OO/O , 0.0% < Mr <51.0%

PH + Pl

Ar=51.0%-Mr , 0.0% < Ar <51.0%
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6. ¥ f25%:

v AN A ACCURCY

RT1 =R R
SP1 ® T B

51 = ST1 FEER
SF1 N S A
LN1 i 8= #ic
RT2 =R Ry
SP2 EE

52 & ST2 FEERE
SF2 SN S A
LN2 N ES
RT3 =R R
SP3 R TR

$3 & ST3 FEERE
SF3 FRRE Ry
LN3 v [ =t #c
RT4 =g Ry
SP4 ® T B

54 ST4 PR
SF4 N S|
LN4 i B = e
RT5 =R Ry
SPS R T B

55 & ST5 FEERE
SF5 N S|
LN5 i [ =% #c
RT6 =R R
SP6 R TR

56 = ST6 FEERE
SF6 FRRE Ry e
LN6 i [B] =% #c
RT7 =g R
SP7 R T B

57 & ST7 PR
SF7 SN S A
LN7 1w [ =% #kc
RTS8 =R R
SP8 R B

58 &= ST8 FEERE
SF8 SN S|
LN8 v [ =t #c
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7. &R

Al ke

Hi
s it et 0 1 2
;EZIQS\JFL'J%ZT% i T -
= == » PV
AXSP-AXHY AxSP
100-20 100
Lo
s e -2 = 0
TSRS T l Py
< <
AxSP AxSP+AXHY
100 100+20
diFH
o e 0 1 2
P e | 1
» PV
< < “
SV SV+AXSP-AXHY SV+AXSP
100 100+40-20 100+40
diFL
s e =2 =i 0
[Tﬂ]f: [Bpoe: T ¢
= - = » PV
SV SV+AXSP SV+AXSP+AXHY
100 100+40 100+40+20
bdHi
L e -2 -1 0 1 2
Bl B T i i T oy
“ < < < “
SV-AxSP SV-AXSP+AXHY sV SV+AXSP-AxHY SV+AXSP
100-40 100-40+20 100 100+40-20 100+40
bdLo
o 0 1 2 -2 = 0
WIS [ i T T l .
Eon < B Ei < » PV
SV-AXSP-AXHY SV-AXSP SV SV+AXSP SV+AXSP+AXHY
100-40-20 100-40 100 100+40 100+40+20
Tion
B G
PV
A
0 Z:REARA 1 R&EE 2 ErEE ZERBME
R 1 e e
seay | e
100-50
» T
Tiof
RS U
PV
SVAAXHY A e
100450 [ e
BW®EREA 1 e ATEE ZERHME
SV = 100 foeeeemmmmmereeeeeeemmmmeeeseeeeemmmebesseeeeenmmmmeeseeeeeemmmme e s i i
ENRT
» T
FIFil
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\ﬁﬁ;:%%%.
LR B
1. SSR PWM Output
Proportional cycle time ,CT = 1~60 Sec
Output Eettings
3
Funct ion [St7 =
CH [ o260
CL [ m139
2. Linear Voltage Output (0~10V)
Proportional cycle time ,CT = 0 Sec
Function = PV or SV or Outl
Output Zettings
Ct i]
Output Funct ion [G0ET <]
BH [T o260
CL[ miza
3. Linear Current Output (4~20mA)
Proportional cycle time ,CT = 0 Sec
Function = PV or SV or Outl
Output Eettings
=
Funct ion [O0tT v
CH [ 5260
CL [ B
Open Collector Output
Alarml
&
Alarm?
R

s 3 3 FE 58— Modbus RTU:

Start bit: 1 Bit
Data bit: 8 Bit
Stop bit: 2 Bit
Baud rate: 2400 bps
4800 bps
9600 bps
19200 bps
Party: None

Command : 03 Read
04 Only Read
06 Write RAM & EEPROM
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